Thickness = 60 ; WOOD RUDDER 21
(=2 Q —

o J1. R 1000

60
—

60 1900
Use a heavy and strong timber
Thickness = 35 3 Thickness = 28 1
= 5 g
o ~
o~
I— 400
e - —
60
17
(=3
~ =
=

s A skl w0

PATTERN FOR RUDDER BLADE ‘1

Pipe stainless
steel ASTM 174"
7\ SCH 10S

0D=13.7
1D=10.4

| ¥
Stop
Tiller should move , wood block

Thickness = 40

freely up and down (see page 27)

<&

',
Do not drill

hole for
- [locking pin
STAINLESS STEEL PINS [ 2) 1 Isee page26)
#10x150 Hole 12
for
Rope & mm \ lifting
rope
110 50 170

120
™
|
60

RUDDER STRAPS {4&)

Thickness =2 mm 20
80 Copper rivet Smm

Stainless steel u“]i - +1~\




ALTERNATIVE LARGE RUDDER

22

FOR USE IN SURF LANDING

250

WHEN HIGH MANOEUVRABILITY.

IS REQUIRED

STAINLESS STEEL FLATIRON 4x 30

960

LN Stainless steel fube
ASTM 14", SCH 10S,TP 316 L

00=422 t=277

75
* or nearest available
315 % / j B 220 70
20 | 160 L o 70 ,_ 90 20 |
2} L 3 > & +] - + 4 -+ - &
¢ 1 Te 1t 1080 S 87 13’
L e
HEAVY STRONG WO0OD
450 450
1000
(=
wn S
o | m
Thickness=45 nn Thickness=38 i
__’_L_LO Thickness=35 -
Lower rudder fitting
PATTERN FOR RUDDER BLADBE 1 starts here
N
Y
o~ o~
= ~ ~
vy '._——f - —
4
’ I ’
150 85 100
Stainless steel pipe Stop
0D=19, ID=13 wood block
weld to tube {see page 27)
M 6x70\ >

bl Drill hole for
\ tocking pin

| with rudder

[ in upper

i | position on

‘ the boat

to maintain distance
while welding

Bolt 10x52

Rivet over nut

after fixing /
rudder blade.




TUNNEL 23

~ Inclined transom

-
\

3

The propeller must not
touch the transom in upper position

X 900 R 500 N
~ u Watertight
4 { Bellows frame7] bulkhead
S S |
%/ o
The skeg must be t ol
above the bottom ——— % — bt I 7 < a‘
7 1
2

BELLOWS FRAME Cutout in frame = 100
/_for all installations

Add piece T * The width of the tunnel measured on the inside
if required o / - A will depend on whether cooling coil for

"G F” K the water cooling system is placed inside

4 f the tunnel.

| The inside width of the tunnet

|

|

|

260

With cooling coil  =130mm
Without cooling coil =100mm

I
| 1l

<« Side of tunnel
with cooling coil

*130

In wooden boats place
the tunnel on the side
to avoid weakening the keel

CONTINUED.




Top 20mm thickness TUNNEL 24

rF"

screwed on

35x35 - Prefabricate
’ J the sides

Plywood 9 mm

or planks 15 mm

3
AW
T,
Dk,
SO
2D

92

» Without cooling coil = 100 ot

i
QR

<9

I A AN S

o3 S T a0
QS

Infermediate
frame if required

)

Use bitumastic
compound and strips
of nylon flyscreen
in alt joints.

Bolt on

the rubber bellows flange
M12x100

Water dN




WATERTIGHT BULKHEAD 25

The dimensions

must be respected to
permit removal of
the BOB Drive

v ‘
5 ‘
Removable
plywood prete N

screwed.

Slot to permit
removing the
BOB Drive

— Watertight bulkhead

B




RUDDER PLATFORM 26

1250

'

Rudder bearing

35x140 'J’r

Inclined transom ——

/]
Adjust hole in
rudder bearing

W

J

L
@Ei
5

&

r—A—

Jam cleat, long end
towards rudder

JAM CLEAT
Bott M6x75
‘ H—etl
h wn
27y C }l| ri\ m‘)—:i
| i
T T
20( 20 L0 120 40
> f
140
Lifting /
< rope ¢ 10
mT r ? ¢ \
} N s Rounded
hole
1. Take rope around 2 Jamrope under

short end

Pa
/0l
K

tong end

'8
N

With a plate put up
against the bottom
there must be
aclearance of
S0 mm to the tip
of the propeller

/}}*\‘ ~.

~ O

cn ol
2V

i




Stop
wood block —*

{ see page 21)

LUGS FOR PIVOT BEARERS

140

14

50
far

4 |

S

©

—en j—-75)<40x6
Thickness = 8

ALIGNMENT OF BOB DRIVE

PROCEOURE

Insert stern tube through bellaws flange
as shown on page 25
Fix propeller, skeg and rudder

. Place pivot bearings on top of pivot bearers
. Block up the pivot bearers and support the skeg

so that the following measures are respected:

. Agapof 10 mm between the stern tube and

the bottom of the bellows flange hole

- Adistance of 60 mm between the bellows ring on top
. Adistance of 50 mm between the tip of the propeller

27

and an extension of the bottom of the boat.ISee page2é)

. Raise the rudder and chectk that the stern tube has

correct clearance to the tunnel sides in upper position

P11

r'd
with washer-" T=z4
against wood

Pivot bolts

with double nuts

i H
~
Bott M10x75

- Drilt for the fixation bolts of the pivot bearers and pivots
- Dritt the hole far the stop block pin in the rudder stock

stainless steel M10x40




BELLOWS 28
MATERIAL : NEOPRENE

Four stainless steel hose clips Pani
R=12 ~R=8 two on each side e \\,\
i N &
i .
4o | 202020 20 4o
R et
» 160

O

4

1]

. e R
w

@

€

Lid

2

o

o

‘@

£

1

Thickness=3-4 mm./

The bellows should be
protected against direct contact \
with grease, oil and diesel by tying -
a sheet of plastic over the top half.
This is especially important where

the engine is mounted above the
bellows.

ANTI-CORROSION TREATMENT

BEST PROTECTION RECOMMENDED WHEREVER POSSIBLE

1. Sand blasting
Z. Zinc spraying
3. Two coats of enamel paint

For sand blasting and zinc spraying, plug ends of stern ftube
and pivet bearings.

MINIMUM PROTECTION

1. Wire brushing to remove rust
2. Two coats of anti-corrosive primer

3. Two coats of enamel paint.




FRESHWATER COOLING SYSTEM 29

Freshwater cooling.will give a (onger life to the engine than seawater
cooling, and will prevent problems due to sand getting into the engine
when surf crossing and beach tanding

Water tank &4-6 litres
fixed to the boal above

EXAMPLE 1: Converted hopper cooted engine with pump highest point of engine

driven from pulley bolted on the flywheel. -

Plate cover bolted over the hopper

Combined
pul.ey.
See page 11

Cooling cail
in tunnel.
See page 30.

The pump can be
E] cenfriipugal pum
or a rubber impel
pump. Choose if
possinle a pump
recommended by the
engine manufacturer. i
The pulley size must give

the correct pump speed

Radiator hose
iD= 19 mm. Avoid
sharp edges.

EXAMPLE 2: Ccnverted radiator cooled engine
with pump driven from radiator

fan pulley. Fuel

tank 12 litres painted red

To cooling coil.
Freshwater fank ¢ litres e g

painted blue The tanks
are separate but tack
welded together in

The radiator has a short
life in a marine environment.

the corner In this example the radiator
and fuel tank have been
removed and replaced by
h engine mounted freshwater
7. and fuel tanks made from
stainless steel. The fuel
Brackef tank can also be bolted
Eﬁgﬁﬁg o l Sy fo the side of the boat.
o /g
' 0, @
To fresh (<] /
water tank

N
To engine.

o)

I
U&Q |

Example:
__ _The centrifugal pump from a
small tractor is driven by the
radiator fan pulley behin

the flywheel. A new
pump backplate is welded

to the bush.

Shaft ¢ 32
welded to ‘

bracket. 1
The bush can/
be rotated on(‘
~
~

A, N
—— s
A

the shaft to
tighten the

Vobelt. The \\

V-bett is long
enough to go over
the flywheel




COOLING COIL IN TUNNEL

Stainless steel or copper
clips 20 mm wide. Bolt through
well side

30

The cooling coil is fixed on the port side
in the tunnel as low down as the inside

structure allows

y
Copper tube 0D=16. Length approximatety 100 mm

per engine hp (10 Hp=1000 mm) but this also depends
on the pump. Temperature of water

The tunnel must give/o

sufficient clearance
between cooling coil and

stern tube. &
[
SKIN FITTING FOR COOLING COIL E;Z&Z{gszrstee
Nut¢32
Material : Bronze
Copper tube 25
Hose D= 19 0D= 20 —TT7L Thread M33x35
Length= 60 L] 1
SS Hose clip 1Z 1 1‘
% s
4 ®i20 1A ~m
i e Y |
7 g
Braze 7 _
! o

Bifumastic compound and
nylon fly screem for water

tightness.

£
| J(_L \
|




	BOBP/MAG/14
	PAGES 21 TO 30




